


1+4+4+2+3+4+5+1+4+1=29
29+10=29 -

5-1=4

%% % 10 13 1§ 24



10

o Yo do itz 2% 1% X o

12

15-10=5

10+10+10+11+12+12+13 +14 + 15 = 107
107 -+ 9 =11.88888... 11.89 to 2 decimal places



A2 3%y .5

6+0+3+2+2+5=18
18+6 =3 3

One more game, would be the 7th
7 x 4 = 28 goals in total

They have scored 18 so far 10
28-18=10



20 29 31 32 32 35 38

38-20=18

75% of 40 = 30
20 29 31 32 32 35 38

32

32

18



2333445667

2+3+3+3+4+4+5+6+6+7 = 43
43:10=43

/
QA &y xR

4.3



s 8 9
mille

— s up Yo S=3S

S+ 8¥9 - Qx
25 -23 =13

s ¢ 9



91('3 LA - M-S @J\JS
Su'('ls rw‘s)él G semnds

No. The mean time for the girls o run 100m is
21.5 seconds, which is less than the mean time
for the boys. Therefore on average the girls
were faster. The ranges for both the boys and
girls are equal which suggests there are no
outliers that are affecting the mean.
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Exam Style Questions

Percentages:
of an amount (calculator) CorbettmQiths

increasing/decreasing by

s N

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

N /

.

Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question. -

4. Check your answers seem right.

5. Always show your workings

-
Revision for this topic

www.corbettmaths.com/contents

Video 235
Video 238




Calculate 7% of 340

1 = 340 100 = 7.4 o 30 Xo. 07

710/@‘ 3“[1”(? E

Find 56% of $8200

10/0 = 302\
51;@/6 T Q%’gﬂ_

-------------------------

Calculate 83% of 8000

[9s » 10
§39,= T470

.........................

Calculate 3.5% of 140g
17, 14
% - 5 7‘5 = [?Le %

" o X 9-034

Find 18.2% of £25,000
19 = 250
18- &% = L5750

or 0483 ¥ 15000




6. Increase £2400 by 9% ar ‘2‘4’00 X - 0?
’% et QU/z
q%_:alé ozlf(g@'f'o’,;/é
£ b6
(2)
7. Increase 40 miles by 43%
) 2 0. o 40 X |43
(;3%?/?— 5
GOFHI 22
........ :S.Z.Ru...mtles
(2)
8. Decroase 1800(; t;y 6:/0/57(9 ¥ Gooo X094
Lo, = 1060 /4000~ 030
..... (4939....
(2)
9. Decrease 712kg by 24% g Flr L 0-FL
[, ~ FA1X
Wy = | #0358 FlA - 7088
..... 5¢/'/Q9kg
(2)
10. Increase 7900 by 37.4%

| 9% > H

‘}?"}‘% ~ 44\‘?5“[{—.6’

£900+295¢-4

or F00 x ).3%

-------------------------




11.  Oliver’s salary is £18,000 and he is due to get an increase of 20. ’
How much will this increase be? (4060 X 0.04
% > (80 o P
Z‘f% = FN0
e A0
(2)
12. Anew TV is priced at £320
In a sale it is reduced by 45% e
or  320X0.55
Calculate the sale price
% 52
45% = 144
240 - M - L
(3)
13. Joanne sees this special offer in a shop.
Special Offer
iPod £189
Headphones £25
Buy both items and receive o 4% discount
Joanne buys both items.
Y oo UYx Q-4

How much does she pay?
194 +25 = Ay
|95 = Q‘IQ ‘
W« 550 48




14. Barry earns £1300 a month. He spends 30% of this money on rent and 12% on

bills.
o 1300 X 0% 2 390
How m;? of the £1300 h/E}S he left? 200 x 022 |58
dedd ills 1300-390- 154 2 75
1% = ‘} % =~ 1> {L

%0g,= M0 = 156
1300 - 390156

15.  Acarton of orange juice contains 540ml.
A special offer carton contains an extra 35%.

How many millilitres of orange juice are in the special offer carton?
. < G135
16/, 5.4 g y)/
% o = 159
sqor 171 224...m

16. There are 52800 fans at a football match between Rovers and City.
37% of the fans support Rovers,

How many fans at the match support City?

65 % Juppﬁr% 61‘24 ' o 100X 043

!% - SJ\?
(39, 334§

-------------------------




17. In 2000 the population of a country was 4,580,000
By 2015, the population had increased by 18%

Work out the population in 2015

w 4580000 X MF
|9, = bs500 \
199, > E>0400

SUo4po
(3)
18.
Avintage car was bought for £9,400
Since then the value of the car has increased by 29%
Calculate the value of the car.
j% = 94 W G400 X |.29
0. 2128




19. James is buying a table.
He finds the same table for sale in two different shops.

Table World Tables'R'us
£140 £120
Prices include VAT Prices do not include VAT
When buying the table, the rate of VAT was 17.5% (9,2 11
Which shop is better value?

You must show your working.

120 X 1175 i witl v

sr——

20. Harriet travelled from Bath to Cardiff.
Her average speed was 58 miles per hour.

There is traffic on the return journey.
Her average speed is reduced by 23%

Work out the average speed on the return journey.

SEK O0-FF
o
f“/a, = 0-5%
9;33/0 = (334
s~ |3-3%




21,

Georgina needs to buy petrol for her car.

Her car can hold 70 litres of petrol. .5
There are already 20 litres of petrol in the tank. Ne&ﬂf 50 /rﬁ‘@

Georgina is going to fill up the petrol tank.

The price of petrol is 115.9p per litre
Georgina has a voucher that gives her 3% off the price of petrol.

How much does Georgina have to pay for the petrol?
—

S0 x lis-t = 575y g K570

| % > 0-5745
= | F385

ko Jare Al Fh (5'" f{*?y

J

Fs# 45 - F 1




22.

The table gives information about the number of people voting for each party at
an election.

Party Number of Votes
Gold Party 12598
Pink Party 9112
Brown Party 20059
Purple Party 4466
7otd #6335

There are 52852 people who can vote
The target was that 88% of people would vote.

Was the target met?

94 o sa¥sL = 46509.%¢ /455'06? o Usw)

Mo He fuﬁép o /w?ﬂ M

(3)




23.  Aballis dropped from a height of 3m and is allowed to bounce repeatedly.
Each time it rises to a height which is 80% of the height it fell from.

What height does the ball rise to after the second bounce.

Imb bovnce = 300 X 09 2 Qb0 em
‘Z"A é&u/\w Y % %0-5 2 [9d em

......................... m
(3)
24,  James bought a house.
[n the first year the value of the house decreased by 10%.
In the second year the value of the house increased by 10%.
Is the house worth more, less, or the same as what James paid for it?
Explain your answer.
IF “H@ /Wéﬁ L@v‘} flf?f?; 000 (% z
ot yor = 90,000 :; yeu = 04X
. Z WG = ‘9"4% )( l'/
Zﬂ"l EM“”%WMOOO 7
/ = 0 99x




25. Cerys wants to invest £4000 for two years.

Banks'R'us The Best Bank
Compound Interest Compound Interest

&% for the first year 5% for the first year
1.5% for each extra year 2.5% for each extra year

Southern Bank

Compound Interest
7% for the first year
0.5% for each extra year

At the end of two years, Cerys wants to have as much money as possible.

Which bank should she invest her £4000 in?

ﬂms s ot jcur L4240 |

The me' ﬁ,\ﬂ» /#(7/@4" - KUP00
Z“Jy&«f - K308

Goflan fud 1T geor = #4240
| Z""e %{af - AU U0

£

....................... %{4

3
7h, Pt Guul







negative correlation

this may vary slightly based 3600
on your line of best fit.



As the time spent revising increases, so
does the test score. (positive correlation)

this may vary slightly based 56
on your line of best fit.



positive

this may vary slightly based 147
on your line of best fit.



There is a positive correlation, which
means as the job duration increases, so does
the charge.



this may vary slightly based
on your line of best fit. 116

It is beyond the range of the data.
It is extrapolation, therefore
unreliable.



negative

this may vary slightly based
on your line of best fit.

140



As the rainfall increases, the number of
umbrellas sold increases.

114



12.8mm

48
this may vary slightly based

on your line of best fit.

It is beyond the range of the data.
It is extrapolation, therefore
unreliable.



600
400 wowei Ko,
300

200 P T ooy
100 : .'

% 1 23456 78 910

As the distance from the city centre
increases, the monthly rent decreases.
It is a negative correlation.



this may vary slightly based 380
on your line of best fit.



negative correlation

negative correlation

positive correlation
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Exam Style Questions

Stratified Sampling  CorbettmoOtths

4 h

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

- j
. J

Guidance

1. Read each question carefully before you begin answering it.
2. Dont spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

4 ™
Revision for this topic

www,corbettmaths.com/contents
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1. The table shows information about the inhabitants of a village.

Age Population Size
0-20 693
21 - 40 1203
41- 60 802

Over 60 405
3103

Bernard is going to carry out a survey about the local library.
He wants to find out how often people have been to the library in the last year.

Bernard decides to take a stratified sample.

(a) Explain why it is appropriate to take a stratified sample.

1
Bernard takes a stratified sample of 100.
(b) Calculate the number of each age group that Bernard should choose.
(95 4 6 '
3100
) - JF639- -
1102 4100 = 297
3105
0-20.... ia ...................
gC}z )(1{00 - 25_’%&"' 21-40 ...... 3‘? ...................
2105 #1-60 ... 26 ..
% % 1007 7,09 .. Over 60 /3 ..................
3103 (3)

© CORBETTMATHS 2014



2, There are

pmployees in a school.

The table shows the number of each type of employee in the school.

Teachers Teaching Assistants Admiﬁ Other

04 16 41 29

(a) A stratified sample of size 50 is required.
Calculate the number of each type of employee that should be chosen.

Li. |

[

64
— A
(30

50

1 oiso = bl

190 Teachers '1[ ................
4 50 * " 299 - Teaching Assistants 5 ..................
;3’(’) Admin ....... ” .....................

%
0
=
@
S

g.056. .
£ x50 (3)
140

...............................

{(b) Describe a method to obtain a stratified sample of size 50 from the
employees in the school.

ﬂsjif’v &ué mw»ézr 0%0 #&I /8 Amﬁﬂr /é? fmﬂx&/fa%)

Teadg sl 95 0 10 de) o b 34 b

................................................................................................................................

© CORBETTMATHS 2014



The table shows the home countries of rugby referees on a course.

40

- f

Ireland Woales Scotland
8 28 44
L5

s b 6 8

{(a) David wants to take a stratified sample of size 10 from the referegs.

Calculate the number of referees from each country that David should select.

i@M % x 10 =

¥ )

twdes %; X lo -~
gwﬂpr L

!
wxfo
£ x o
Zo
0z
1o

il

35 | |
Ireland .....ccoeceeiieeeiieeenvitenn

5.6 Wales.......% ...... o 5
b

Scotland ........ 5 ...................

There are 300 students in years 7, 8, 9 and 10 in a school.

Year 9

|

A stratified sample of 50 is planned.
Calculate the number of people that should be sa

@ CORBETTMATHS 2014

i

ijﬂoie

by {
réjpled from each year group.

Year 7 ........ /‘;L ................
Year 8 ........ ,g .................
i
Year9 ... f{ ....................

...............................



Declan works in a confectioners,
He is asked to test a sample of 40 chocolates stratified by type of chocolate.
The table shows the number of each type of chocolate in the shop.

Type Mitk Dark White 735/
Number 600 220 130 450

Calculate the number of dark chocolates required for his stratified sample.
\\.__,-’

13‘@ y ZFO - Q‘lég“”

[

459

6. There are 300 passengers on a flight.
A stratified sample is taken.

The table shows some information.

Type
Mumber on flight

MNumber in sample

Complete the table.

(3)

© CORBETTMATHS 2014



A cricket club has 400 members.
A stratified sample of member is taken, by age group.

The table shows some information.

Junior 18 - 3% 40 - 59 Senior
Members 75 . ggiee 120 (0 -
20 b A

Number in sample 15

Complete the table.

(3)
8. Ateacher decides to carry out a survey about school dinners.
She is going to ask students in year 4, year 5 and year 6.
The numbers in the schooi are shown.
100 120 1675
A stratified sample is taken.
40 year 4 students are selected.
Work out the number of year 6 students selected.
— U
100 = 40 125 xlhz= 51
s X 255
14200
Q0 e~
o e S
(2)

© CORBETTMATHS 2014
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